Math 20 - 1  Sequences & Series Review
1.  
Find a simplified form of tn for each of the following.


a.  5, 13, 21 . . .
b.  2, 0, (2 . . .
2.  Find the sixteenth term of an arithmetic sequence if the first term is 15 and the common difference is (4.

3.
How many terms are in the following sequence?    25, 33, 41 . . . 145.

4.
For the sequence 1, 9, 17 . . .  find:        a.  t59     b.  S22
5.
How many integers between 33 and 498 are divisible by 7?

6.
What is the sum of the series 3 + 19 + 35 + . . . + 307?

7.
Given the arithmetic sequence 8, 5, 2 . . . find S20.

8.
Find S19 for an arithmetic sequence if a = (13 and t15 = 43.

9.
What is the sum of the first 35 terms of an arithmetic series if the first term is 6 and the common


difference is (2.

10.  
In an arithmetic series S12 = 366 and a = 3.  Find d.

11. If the sequence is arithmetic, find the missing terms

a).
8, ___, ___, ___128
b)   (53___, ___, ___, ___ and 6
12.
Given 2, 10, 50 . . . find r and t7.

13. If the sequence is geometric, find the missing terms


a).
5 __. ___, ___, 80.                           
 b) 50 ___, ___,  86.4.

14.
A car valued at $40 000 depreciates by 20% in value each year.  Find its value 7 years from now.

15. 
The population of a city of 500 000 increases by 2% each year.  Find the population after


5 years. (nearest whole number).

16.  
A 60–row theatre has 10 seats in the front row.  The second row has 11 seats.  If each row


has one more seat than the previous row, how many seats are there in the theatre?
17.
A student is offered a job that pays $3.25 the first hour, $3.50 the second hour, $3.75 the third


hour and so on.  How much would you earn:


a.  for the 13th hour?
b.    for 20 hours of work?

18.  What is r (exact) for the geometric sequence 
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, . . . ?

19.  Find t19 for the geometric sequence 14, 18.2 . . .  .

20.  Boxes are stacked so that the bottom layer has 118 boxes, the layer on top of that has 111 boxes, the one above that has 104 and so on.  How many boxes are there in the 11th layer?
21.  A building depreciates in value by 5% per year.  The land the building is on increases in value by 7% per year.  If the building is now worth $240 000 and the land is worth $140 000, will their total value increase or decrease in 8 years and by how much?  Round to the nearest hundred dollars
22.  For each geometric series, determine the sum

a) 5 – 5 + 5 – …, (S10)




b) –100 + 50 – 25 + …, (S7)

23.  Determine the first term for each geometric series. Sn = 292 968, n = 8, r = 5

24.  Determine the number of terms in the geometric series.    1792 – 896 + 448 – 
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      if  Sn = 1197 
25. The fourth term of a geometric series is 30; the ninth term is 960. Determine the sum of the first nine terms.

26.  A ball is dropped from the top of a 25-m ladder. In each bounce, the ball reaches a vertical height that is 
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 the previous vertical height. Determine the total vertical distance travelled by the ball when it contacts the ground for the sixth time. Express your answer to the nearest tenth of a metre.

27.  Determine the sum of the infinite geometric series,  – 2 – 2
[image: image4.wmf]3

4

-

æö

ç÷

èø

 – 2
[image: image5.wmf]2

3

4

-

æö

ç÷

èø

– 2
[image: image6.wmf]3

3

4

-

æö

ç÷

èø

 – …

28.  The sum of an infinite geometric series is 
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 and the common ratio is 
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. Determine the first term.

29.  The sum of an infinite geometric series is three times the first term. Determine the common ratio.
30.  A new oil well produces 12 000 m3/month of oil. Its production is known to be dropping by 2.5% each month.

a)  What is the total production in first year?

b)  Determine the total production of the well.

ANSWERS

8.  a.  (3, (2, 3, 12     b.  
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     9.  (45     10.  a.  4     b.  12, 48     c.  1     11.  16

12.  a.  465     b.  1870     13.  67     14.  3100     15.   (410     16.  437     17.  (980     18.  5     

19.  38, 68, 98     20.  (41.2, (29.4, (17.6, (5.8     21.  r = 5; 31 250     22.  10, 20, 40 or (10, 20, (40     23.  60, 72     24.  $8388.61     25.  552 040     26.  2370     27.  a. $6.25     b.  $112.50     

28.  a.  8n ( 3     b.  (2n + 4     29.  
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     30.  1574.38     
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